AS’I. (g} Given thatx >0, show that

log, x*=nlog_x. 3]
(b) Express % log,324 + log .56 - 2log 12 in the form log b, where b Is 2 constant whose
value Is to be Jound. [4]

{¢j {3} Rewrite the equation

?‘J.’__?I-'rl

i the Torm
C.-T: é,

where the values of the constants ¢ and 4 are t¢ be {ound. f

(i) Hence orotherwise, solve the equation

33‘ =0+ 1
siving yoor answer correcl to two decimal places. {4]
Jan 2010
$2. (e} Giventhat x>0, show that
1Dgﬂxn = ﬁ'-iog_,_, X {3] i
(k) -Solve the equation
G ted,
Show your working and give your answer correct fo three decimal places. 15}
{c) Giventhatlog 4= = - Tind the value of a. [2]
June 2010
£3. Find all values of x safisfyng the equation
log,(6x2 + 11) ~log.x = 2lox 5. [5]
Jan 2017
{a) Given that x> (0, p> 0, show that
St x , R _ ‘ o
log (—) =log x~log j. 3
al y ) a a .
{b) TExpress _\
Ly B . 9
21%,, X - k;gn 4x + 310% =
as 3 single logarithm in its simplest form. 4

June 2011
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